

جمع الكسور المتشابهة وطرحها

صلي من العمود الأول بما يناسب من العمود الثاني:



$$1 \frac{3}{7}$$

$$= \frac{3}{6} + \frac{2}{6}$$

$$\frac{5}{6}$$

$$= \frac{1}{9} + \frac{1}{9}$$

$$\frac{7}{9}$$

$$= \frac{1}{7} + \frac{6}{7}$$

ضعي خطأ تحت الإجابة الصحيحة مما يأتي:



$$\left(\frac{1}{2} - \frac{1}{12} - \frac{7}{1} \right)$$

$$\frac{5}{12} - \frac{11}{12} \quad (1)$$

$$\left(\frac{1}{2} - \frac{1}{5} - \frac{37}{25} \right)$$

$$\frac{17}{25} - \frac{21}{25} \quad (2)$$

$$\left(\frac{1}{2} - \frac{1}{4} - \frac{6}{8} \right)$$

$$\frac{1}{8} - \frac{3}{8} \quad (3)$$